
Z 5119Installation Guide
Rear Control Arm Camber  Adj

Suits: Mitsubishi Lancer

N.B: It is recommended that a licenced workshop or trades person carry out the
above procedure and that workshop manual and relevant safety procedures are
followed in addition to the above.

(Always refer to the current catalogue for complete application listings)

N.B: This installation guide should be used in conjunction with the workshop manual. 

M12 X 1.25 x 
50mm long bolt

M12 X 1.25 
x25mm long 

M12 nut M12 spring 
washer

M12 spring 
washer

6243 bush

Left Rear Arm Shown

� Install the M12 nut on to the M12x50 long bolt along with the spring washer.    
      install the long bolt into the offset tube so the bolt faces rearward and bottoms out in the centre
      of the offset tube.
� Install the supplied spring washer on to the M12x25 short bolt and install into      
      the offset tube.
� To adjust rotate the long bolt clockwise making sure the nut and short bolt is loose. When the  
      desired alignment angle is reached tighten the short bolt first until tight followed by the locking  
      nut on the long bolt. 

© Copyright ABN 99 124 177 297


